

BAYESIAN ESTIMATION FOR A GENERALIZED GAMMA DISTRIBUTION

M. S. Abu-Salih

*Yarmouk University,
P. O. Box 566, Irbid,
Jordan.*

الخلاصة :

تم في هذا البحث دراسة تقدير بيز لمعلم (بارامتر) القياس في تعميم توزيع جاما حيث أعتبر هذا المعلم عشوائياً وفرض خضوعه لتوزيع أولي للأنواع التالية :
التوزيع المتجانس ، والتوزيع الأسّي ، وتوزيع جاما المقلوب .
كما تم إيجاد تقدير بيز لدالة الفاعلية تحت الفروض السابقة بالإضافة الى إيجاد تقديرات بيز لمعلم القياس ولدالة الفاعلية في حالة «الجهل التام» عن التوزيع الأولي وفي حالة «أشباه التوزيعات» .
واحتوى البحث على ملخص للناتج السابقة المتعلقة ببعض التوزيعات المشهورة كحالات خاصة لنموذج تعميم جاما .

ABSTRACT

In this paper we consider the generalized gamma distribution and derive the Bayes' estimators of its random scale parameter and reliability function with respect to uniform, exponential, and inverted gamma priors.

The estimators are provided also in case of prior ignorance and quasi-densities. Results for special cases of the model which include some well-known distributions are summarized.

BAYESIAN ESTIMATION FOR A GENERALIZED GAMMA DISTRIBUTION

1. INTRODUCTION

Let X be a random variable (RV) having generalized gamma distribution (GGD) (c.f. Lajkó [1]):

$$\begin{aligned}
 f(x|\theta, p) &= \frac{(1/\theta)^p |B'(x)| [B(x)]^{p-1}}{\Gamma(p)} \exp\left(\frac{-B(x)}{\theta}\right), \text{ for } x \in (c, d) \\
 &= 0, \text{ otherwise,} \tag{1.1}
 \end{aligned}$$

where $B(x)$ is a continuously differentiable function from the interval (c, d) onto $(0, \infty)$ such that $B'(x) \neq 0$ for $x \in (c, d)$ and $\theta, p > 0$ are arbitrary constants.

Stacy and Mirham's [2] generalized gamma and their Table 1 of special cases all belong to the family (1.1). The GGD and its special cases are of interest for applications in reliability and life testing (c.f. Englehardt and Bain [3], and Cross and Clark [4] for applications of gamma distribution).

Our aim in this paper is to consider a Bayesian approach to reliability and life parameter estimation in the GGD which includes many well-known failure distributions such as the exponential, Weibull, gamma, Rayleigh, and inverse Rayleigh distributions. Our Bayesian analysis of the GGD model is carried out under the assumption that p is known while θ is a realization of an RV Θ having any of the following prior densities:

$$\begin{aligned}
 g_1(\theta) &= \frac{(a-1)(\alpha\beta)^{a-1}}{\beta^{a-1} - \alpha^{a-1}} \frac{1}{\theta^a}, \quad 0 < \alpha \leq \theta \leq \beta \\
 &= 0, \text{ otherwise} \tag{1}
 \end{aligned}$$

$$g_2(\theta) = \frac{1}{\lambda} e^{-\theta/\lambda}, \quad 0 < \theta < \infty, \lambda > 0 \tag{2}$$

$$g_3(\theta) = \frac{e^{-\mu/\theta} (\mu/\theta)^{b+1}}{\mu \Gamma(b)}, \quad 0 < \theta < \infty, \mu, b > 0 \tag{3}$$

These three priors were used by Bhattacharya [5] for a Bayesian analysis of the exponential distribution $(1/\theta)e^{-x/\theta}$.

Justification and support of Bayesian analysis have been advanced by many authors. (c.f. references [6, 7, and 8]).

The choice of uniform prior is justified if prior

information concerning the range of the parameter is provided. If no information about the parameter is available then quasi-density prior may be used. The inverted gamma density (3) is the natural conjugate family for (1.1).

In seeking an estimate of θ from a Bayesian point of view we consider a decision function $w(\mathbf{x})$ where $\mathbf{x} = (x_1, \dots, x_n)$ denotes a realization of a random sample X_1, \dots, X_n , and assume a squared error loss function:

$$L(\theta, w(\mathbf{x})) = (\theta - w(\mathbf{x}))^2. \tag{1.2}$$

2. SCALE PARAMETER AS A SUBJECTIVE RANDOM VARIABLE

Consider a random sample of n items whose life times are described by a GGD (1.1) where p is known and θ is assumed to be a realization of a random variable Θ .

We assume the general uniform density (1) as the prior density of θ . Let $(x_1, x_2, \dots, x_n) = \mathbf{x}$ denote the observed life times of the test items. The likelihood of the sample is

$$\begin{aligned}
 L(\mathbf{x}|\theta) &= \frac{\theta^{-np}}{\Gamma^n(p)} \prod_{i=1}^n |B'(x_i)| [B(x_i)]^{p-1} \exp\left(-\sum_{i=1}^n B(x_i)/\theta\right), \\
 &\text{all } x_i \in (c, d). \tag{2.1}
 \end{aligned}$$

Letting $S_n = \sum_{i=1}^n B(x_i)$ and using Bayes' theorem we obtain the posterior density of Θ as:

$$\begin{aligned}
 h_1(\theta|\mathbf{x}) &= C(1/\theta)^{np+a} \exp(-S_n/\theta); \quad \alpha \leq \theta \leq \beta \tag{2.2}
 \end{aligned}$$

where, with $\gamma(m, z) = \int_0^z t^{m-1} e^{-t} dt$,

$$C^{-1} = \frac{\gamma(np+a-1, \frac{S_n}{\alpha}) - \gamma(np+a-1, \frac{S_n}{\beta})}{S_n^{np+a-1}}$$

Writing $\gamma^*(m, z) = \gamma(m, z/\alpha) - \gamma(m, z/\beta)$, and using the squared error loss function given in (1.2), we find the Bayes' estimator of θ to be the posterior mean given by $\theta^* = \int_{\alpha}^{\beta} \theta h_1(\theta|\mathbf{x}) d\theta$, which reduces to:

$$\theta^* = \frac{\gamma^*(np+a-2, S_n)}{\gamma^*(np+a-1, S_n)} \times S_n, \quad np+a > 2 \tag{2.3}$$

Also the variance of θ^* will be the posterior variance of θ given by Equation (2.4).

$$V(\theta^*|x) = \frac{\gamma^*(np+a-3, S_n) \gamma^*(np+a-1, S_n) - \{\gamma^*(np+a-2, S_n)\}^2}{\{\gamma^*(np+a-1, S_n)\}^2} \times S_n^2 \tag{2.4}$$

provided $np+a > 3$.

The reliability function under (1.1) is given by:

$$R(t) = P(X > t) = \frac{\gamma\left(p, \frac{B(d)}{\theta}\right) - \gamma\left(p, \frac{B(t)}{\theta}\right)}{\Gamma(p)} \tag{2.5}$$

Using the convergent expansion:

$$\gamma(a, x) = \sum_{m=0}^{\infty} \frac{(-1)^m x^{a+m}}{m!(a+m)} \tag{2.6}$$

(Erdelyi *et al.* [3] p. 135) we get

$$R(t) = \frac{1}{\Gamma(p)} \sum_{m=0}^{\infty} \frac{(-1)^m (1/\theta)^{p+m}}{m!(p+m)} [B^{p+m}(d) - B^{p+m}(t)] \tag{2.7}$$

The RHS of (2.7) is convergent by (2.6) and hence, using (2.2), term by term integration gives the Bayes' estimator of $R(t)$ under a squared error loss as:

$$R^*(t) = \frac{1}{\Gamma(p)} \times \sum_{m=0}^{\infty} \frac{(-1)^m \gamma^*(p(n+1)+m+a-1, S_n) [B^{p+m}(d) - B^{p+m}(t)]}{m!(p+m) \gamma^*(np+a-1, S_n) S_n^{p+m}} \tag{2.8}$$

In case p is a positive integer, $R(t)$ reduces to

$$R(t) = \sum_{m=0}^{p-1} \frac{1}{m!} \left[\exp\left(-\frac{B(t)}{\theta}\right) \left(\frac{B(t)}{\theta}\right)^m - \exp\left(-\frac{B(d)}{\theta}\right) \left(\frac{B(d)}{\theta}\right)^m \right] \tag{2.9}$$

The corresponding Bayes' estimator under squared error loss (1.2) is

$$R^{**}(t) = E[R(t)|x] = \int_{\alpha}^{\beta} R(t) h_1(\theta|x) d\theta. \text{ Noting that}$$

$$\int_{\alpha}^{\beta} \{\exp(-B(t)/\theta)\} (B(t)/\theta)^m h_1(\theta|x) d\theta = \frac{S_n^{np+a-1}}{\gamma^*(np+a-1, S_n)} \times \frac{B^m(t) \gamma^*(np+a+m-1, S_n+B(t))}{\{S_n+B(t)\}^{np+a+m-1}},$$

we easily get

$$R^{**}(t) = \sum_{m=0}^{p-1} \frac{1}{m!} \times \frac{S_n^{np+a-1}}{\gamma^*(np+a-1, S_n)} \times \left[\frac{B^m(t) \gamma^*(np+a+m-1, S_n+B(t))}{\{S_n+B(t)\}^{np+a+m-1}} - \frac{B^m(d) \gamma^*(np+a+m-1, S_n+B(d))}{\{S_n+B(d)\}^{np+a+m-1}} \right] \tag{2.10}$$

Next we consider the problem under the exponential prior (2). In this case, the posterior density is given by Equation (2.11):

$$h_2(\theta|x) = \begin{cases} \frac{\theta^{-np}}{\Gamma^n(p)} \prod_{i=1}^n |B'(x_i)| [B(x_i)]^{p-1} \exp(-S_n/\theta) \lambda \exp(-\theta/\lambda)}{\int_0^{\infty} \frac{\theta^{-np}}{\Gamma^n(p)} \prod_{i=1}^n |B'(x_i)| [B(x_i)]^{p-1} \exp(-S_n/\theta) \lambda \exp(-\theta/\lambda)}}, & \alpha < \theta < \infty \\ 0, & \text{otherwise} \end{cases}$$

$$= \begin{cases} \frac{\theta^{-np} \exp(-\theta/\lambda - S_n/\theta)}{\int_0^{\infty} \theta^{-np} \exp(-\theta/\lambda - S_n/\theta)}, & 0 < \theta < \infty \\ 0, & \text{otherwise} \end{cases} \tag{2.11}$$

To evaluate the denominator of (2.11), we use the relation:

$$K_\nu(az) = \frac{1}{2} a^\nu \int_0^\infty \exp(-\frac{1}{2} zu - \frac{a^2 z^2}{2u}) \times \frac{1}{u^{\nu+1}} du, \quad a, z > 0; \nu \geq 0 \tag{2.12}$$

$K_\nu(az)$ is called the Modified Bessel function of the third kind of order ν . (Erdelyi et al. [8]).

Let $S_n = \frac{a^2 z}{2}, \frac{1}{\lambda} = \frac{z}{2}$ and $\nu = np - 1$. Substituting in the denominator of (2.11) and using (2.12) we get:

$$\int_0^\infty \theta^{-np} \exp(-\theta/\lambda - S_n/\theta) d\theta = \frac{2K_{np-1}\{2\sqrt{(S_n/\lambda)}\}}{\{\sqrt{(\lambda S_n)}\}^{np-1}}$$

Hence (2.11) reduces to:

$$h_2(\theta|x) = C(1/\theta)^{np} \exp(-\theta/\lambda - S_n/\theta) \tag{2.13}$$

where

$$C^{-1} = 2(\lambda S_n)^{-\frac{1}{2}(np-1)} K_{np-1}\{2\sqrt{(S_n/\lambda)}\}.$$

Under squared error loss function (1.2) the Bayes' estimator of θ is

$$\begin{aligned} \hat{\theta} &= \int_0^\infty \theta h_2(\theta|x) d\theta \\ &= \int_0^\infty C(1/\theta)^{np-1} \exp(-\theta/\lambda - S_n/\theta) d\theta \end{aligned} \tag{2.14}$$

Using (2.12) we easily get:

$$\hat{\theta} = (\lambda S_n)^{\frac{1}{2}} \frac{K_{np-2}\{2\sqrt{(S_n/\lambda)}\}}{K_{np-1}\{2\sqrt{(S_n/\lambda)}\}}, \quad np \geq 2 \tag{2.15}$$

and its variance is

$$\begin{aligned} V(\hat{\theta}|x) &= \lambda S_n \\ &\times \frac{K_{np-3}\{2\sqrt{(S_n/\lambda)}\} K_{np-1}\{2\sqrt{(S_n/\lambda)}\} K_{np-2}^2\{2\sqrt{(S_n/\lambda)}\}}{K_{np-1}^2\{2\sqrt{(S_n/\lambda)}\}}, \end{aligned} \tag{2.16}$$

$np \geq 3$

Using (2.12) and (2.13), term-by-term integration of (2.7) gives the estimator of the reliability function by:

$$\begin{aligned} \hat{R}(t) &= \frac{1}{\Gamma(p)} \\ &\times \sum_{m=0}^\infty \frac{(-1)^m [B_{(d)}^{p+m} - B_{(t)}^{p+m}] K_{p(n+1)+m-1}\{2\sqrt{(S_n/\lambda)}\}}{m!(p+m) (\lambda S_n)^{\frac{1}{2}(p+m)} K_{np-1}\{2\sqrt{(S_n/\lambda)}\}} \end{aligned} \tag{2.17}$$

Using (2.12) and (2.13) we get:

$$\begin{aligned} \int_0^\infty e^{-B(t)/\theta} \left(\frac{B(t)}{\theta}\right)^m \cdot h_2(\theta|x) d\theta &= \\ &= \frac{B^m(t) K_{np+m-1} 2\sqrt{(S_n+B(t))/\lambda}}{\{\lambda(S_n+B(t))\} \frac{np+m-1}{2}} \\ &\times \frac{(\lambda S_n)^{\frac{np-1}{2}}}{K_{np-1}\{2\sqrt{(S_n/\lambda)}\}} \end{aligned}$$

similarly, we evaluate $\int_0^\infty e^{-B(d)/\theta} \{B(d)\} \frac{m}{\theta} h_2(\theta|x) d\theta$

and hence, the estimator of the reliability function in (2.9) is given by:

$$\begin{aligned} \hat{R}(t) &= \sum_{m=0}^{p-1} \frac{1}{m!} \\ &\times \left[\frac{B^m(t) \times K_{np+m-1} \left\{ 2\sqrt{\left(\frac{S_n+B(t)}{\lambda}\right)} \right\}}{\{\lambda(S_n+B(t))\} \frac{np+m-1}{2}} \right. \\ &\quad \left. - \frac{B^m(d) \times K_{np+m-1} \left\{ 2\sqrt{\left(\frac{S_n+B(d)}{\lambda}\right)} \right\}}{\{\lambda(S_n+B(d))\} \frac{np+m-1}{2}} \right] \\ &\times \frac{(\lambda S_n)^{\frac{np-1}{2}}}{K_{np-1} (2\sqrt{S_n/\lambda})} \end{aligned} \tag{2.18}$$

The third prior we consider is the inverted gamma (3). As before, the posterior density of θ is easily found to be:

$$h_3(\theta|x) = \frac{(1/\theta)^{np+b+1} (S_n + \mu)^{np+b} \exp(-S_n - \mu)/\theta}{\Gamma(np+b)}, \quad 0 < \theta < \infty \tag{2.19}$$

Under squared error loss function given in (1.2), the Bayes' estimator of θ is:

$$\begin{aligned} \tilde{\theta} &= E[\Theta|x] \\ &= \int_0^\infty \theta h_3(\theta|x) d\theta \end{aligned}$$

Carrying out the integration, we easily get:

$$\tilde{\theta} = \frac{S_n + \mu}{np + b - 1}, \quad np + b > 1 \tag{2.20}$$

The variance of $\tilde{\theta}$ is the posterior variance of θ given by

$$V(\tilde{\theta}|\mathbf{x}) = E[\Theta^2|\mathbf{x}] - (E[\Theta|\mathbf{x}])^2$$

Using (2.19) we get:

$$V(\tilde{\theta}|\mathbf{x}) = \frac{(S_n + \mu)^2}{(np + b - 1)^2(np + b - 2)}, \quad np + b > 2 \quad (2.21)$$

Again, using (2.19), term by term integration of (2.7) and (2.9) gives the Bayes' estimators of the reliability functions of (2.7) and (2.9), respectively, by:

$$\begin{aligned} \tilde{R}(t) &= \frac{1}{\Gamma(p)} \sum_{m=0}^{\infty} \frac{(-1)^m [B_{(d)}^{p+m} - B_{(t)}^{p+m}]}{m! (p+m)} \\ &\times \frac{\Gamma(p(n+1) + b + m)}{\Gamma(np + b)(S_n + \mu)^{p+m}} \end{aligned} \quad (2.22)$$

$$\begin{aligned} \tilde{R}(t) &= \sum_{m=0}^{p-1} \frac{(S_n + \mu)^{np+b}}{m! \Gamma(np + b)} \Gamma(np + b + m) \\ &\times \left[\frac{B^m(t)}{(S_n + B(d) + \mu)^{np+b+m}} - \frac{B^m(d)}{(S_n + B(d) + \mu)^{np+b+m}} \right] \end{aligned} \quad (2.23)$$

3. PRIOR IGNORANCE AND QUASI-DENSITIES

The case of lack of knowledge on the prior density of θ is treated by letting $a=0$ and $(\alpha, \beta) \rightarrow (0, \infty)$ in (1), or more generally, by using the quasi-density

$$g(\theta) = \frac{1}{\theta^a}, \quad 0 < \theta < \infty \quad (3.1)$$

(Justification and detailed discussion can be found in [6], [7], and [9].)

Under (3.1), (2.2) reduces to

$$\begin{aligned} h(\theta|\mathbf{x}) &= \frac{(1/\theta)^{np+a} S_n^{np+a-1} \exp(-S_n/\theta)}{\Gamma(np+a-1)}, \\ 0 < \theta < \infty, \quad np+a > 1. \end{aligned} \quad (3.2)$$

It is evident that the results in this case are obtained by letting $\alpha \rightarrow 0$ and $\beta \rightarrow \infty$ and the estimators (2.3), (2.4), (2.8), and (2.10), respectively reduce to:

$$\theta_1^* = \frac{S_n}{np+a-2}; \quad np+a > 2 \quad (3.3)$$

$$V(\theta_1^*|\mathbf{x}) = \frac{S_n^2}{(np+a-2)^2(np+a-3)}, \quad np+a > 3 \quad (3.4)$$

$$\begin{aligned} R_1^*(t) &= \frac{\Gamma(p(n+1)+a-1)}{\Gamma(p+1) \Gamma(np+a-1)} \\ &\left[\left(\frac{B(d)}{S_n} \right)^p {}_2F_1 \left(p(n+1)+a-1, p; p+1; -\frac{B(d)}{S_n} \right) \right. \\ &\left. - \left(\frac{B(t)}{S_n} \right)^p {}_2F_1 \left(p(n+1)+a-1, p; p+1; -\frac{B(t)}{S_n} \right) \right] \end{aligned} \quad (3.5)$$

where ${}_2F_1(a, b; c; z)$ is the hypergeometric function (Erdelyi *et al.* [8]).

$$\begin{aligned} R_1^{**}(t) &= \sum_{m=0}^{p-1} \frac{1}{m!} S_n^{np+a-1} \frac{\Gamma(np+a+m-1)}{\Gamma(np+a-1)} \\ &\times \left[\frac{1}{(S_n + B(t))^{np+a+m-1}} - \frac{1}{(S_n + B(d))^{np+a+m-1}} \right]. \end{aligned} \quad (3.6)$$

If $\alpha \rightarrow \beta$, then by applying L'Hopital's rule to the RHS of (2.3), (2.4), (2.8), and (2.10) they, respectively, reduce to:

$$\theta_2^* = \beta; \quad V(\theta^*|\mathbf{x}) = 0$$

$$R_2^*(t) = \frac{\gamma(p, B(d)/\beta) - \gamma(p, B(t)/\beta)}{\Gamma(p)}, \quad \text{and}$$

$$\begin{aligned} R_2^{**}(t) &= \sum_{m=0}^{p-1} \frac{1}{m!} \left[\left(\frac{B(t)}{\beta} \right)^m \exp(-B(t)/\beta) \right. \\ &\left. - \left(\frac{B(d)}{\beta} \right)^m \exp(-B(d)/\beta) \right] \end{aligned}$$

These results come out as expected of the case of de-

generate prior density of θ namely, $g(\theta) = \begin{cases} 1, & \theta = \beta \\ 0, & \theta \neq \beta \end{cases}$

In many instances, Bayes confidence intervals for θ are of interest.

It is seen from (2.3) that $\frac{S_n}{\theta}$ is distributed as Gamma $(np+a-1, 1)$ and hence $100(1-\alpha)\%$ Bayes' confidence intervals for θ can easily be constructed. If $2(np+a-1)$ is a positive integer, $\frac{2S_n}{\theta}$ has a χ^2 distribution with $2(np+a-1)$ degrees of freedom, and $100(1-\alpha)\%$ Bayes' confidence interval for θ is given by $\left(\frac{2S_n}{\chi_{1-\alpha/2}^2}, \frac{2S_n}{\chi_{\alpha/2}^2} \right)$ where $\chi_{\alpha}^2 = 100 \alpha\%$ point of χ^2 distribution with $2(np+a-1)$ d.f. In case of lack of knowledge about the prior of θ we use $a=0$, but if

the experimenter's knowledge about θ is only vague, he can use $a=1$ which corresponds to Jeffery's invariant prior.

4. SPECIAL CASES

In this section we summarize the previous results for two special forms of $B(x)$ which contain many members.

(a) Let $p = 1$ and $B(x)$ be monotone increasing such that $B(x) \rightarrow \infty$ as $x \rightarrow d$, d being finite or infinite.

The special cases of such $B(x)$ include: the

exponential, Rayleigh, and Weibull with known shape parameter. The reliability function is

$$R(t) = e^{-B(t)^\theta}, t \geq c$$

(b) Let $p = 1$ and $B(x)$ be monotone decreasing such that $B(x) \rightarrow 0$ as $x \rightarrow d$. Such family has inverse Rayleigh and inverse Weibull distributions [10] as special cases. The reliability function is

$$R(t) = 1 - e^{-B(t)^\theta}, t \geq c$$

The Bayes estimators of $R(t)$ for cases (a) and (b) under the different prior densities of θ are listed in Table 1.

Table 1.

Prior of θ	Bayes' estimator of $R(t)$	
	Case (a)	Case (b)
Uniform (1)	$R_U^* = \left(\frac{S_n}{S_n + B(t)}\right)^{n+a-1} \times \frac{\gamma^*(n+a-1, S_n + B(t))}{\gamma^*(n+a-1, S_n)}$	$1 - R_U^*$
Exponential (2)	$R_E^* = \left(\frac{S_n}{S_n + B(t)}\right)^{1/2(n-1)} \times \frac{K_{n-1} \left\{ 2 \sqrt{\left(\frac{S_n + B(t)}{\lambda}\right)} \right\}}{K_{n-1} \{ 2 \sqrt{S_n/\lambda} \}}$	$1 - R_E^*$
Inverted Gamma (3)	$R_{IG}^* = \left(\frac{S_n + \mu}{S_n + \mu + B(t)}\right)^{n+b}$	$1 - R_{IG}^*$
Quasi-Prior $\frac{1}{\theta^a}, 0 < \theta < \infty$	$R_Q^* = \left(\frac{S_n}{S_n + B(t)}\right)^{n+a-1}$	$1 - R_Q^*$

REFERENCES

[1] K. Lajkó, "A Characterization of Generalized Normal and Gamma Distributions". *Colloquia Mathematica Societatis Janos Bolyai, 21: Analytic Function Methods in Probability Theory, (1977) Debrecen (Hungary)*. ed. B. Gyires. North Holland, p. 199.

[2] E. W. Stacy and G. A. Mirham, "Parameter Estimation for a Generalized Gamma Distribution", *Technometrics*, 7 (1965), p. 349.

[3] M. Englehardt and L. Bain, "Uniformly Most Powerful Unbiased Tests on the Scale Parameter of a Gamma Distribution with a Nuisance Shape Parameter", *Technometrics*, 19 (1977), p. 77.

[4] A. Gross and V. Clark, "Survival Distributions: Reliability Applications in the Biomedical Sciences". New York: Wiley, 1975.

[5] S. K. Bhattacharya, "Bayesian Approach to Life Testing and Reliability Estimation, *Journal of the American Statistical Association*, 62 (1967), p. 48.

[6] H. Raiffa and R. Schaifer, *Applied Statistical Decision Theory*. Harvard Graduate School of Business Administration, 1961.

[7] M. Stone, "Right Haar Measure For Convergence in Probability Quasi-Posterior Distributions", *Annals of Mathematical Statistics*, 36 (1965), p. 440.

[8] A. Erdelyi et al., "Higher Transcendental Functions". Vols. I and II, McGraw-Hill, 1953.

[9] D. L. Wallace, "Conditional Confidence Level Properties". *Annals of Mathematical Statistics*, 30 (1959), p. 864.

[10] V. Gh. Voda, "On the Inverse Rayleigh Distributed Random Variable", *Reports on Statistical Applied Research, JUSE*, 19(4) (1972), p. 13.

Paper Received 20 May 1984; Revised 9 July 1985.